22 June 2013 10 July 2013 11 July 2013

6 S L B I S L B I
— Lidar (d+c) '
=| - - - Lidar (d+m) - _
- m |nsitu '
N
®
c4 ‘ ‘
A I
= [
531 : :
o |
L |
2} : — _
| ! (a) /’ (b) _
1 .......................... A T T
0 10 20 30 40 50 O 10 20 30 40 50 0 10 20 30 40 50
N5 (CM™) N5 (CM™) N5 (CM™)
6|||| L B B B — T 1 T
5 —— Lidar (d+c) | ]
5[ — — — Lidar (d+m) - -
—= A ® |nsitu ]
2
qv] B
c 4} ‘ 1 T '
é I
23, - [F -
T | -
2 : : - : - - HIH — -
| 7 | i
(d) g (e) / ] (f) J
1- P | P B
0 200 400 600 0 200 400
s (Um? cm™) s (Um? cm™)

10 100 1000 1 10 100 1000 10 100 1000
Ni\p (L") Ni\\p (L™ Ni\p (L™



